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QUESTION 1

A manufacturing cloud user wants to print information available in the work order in PDF. Identify the three reports that
the user can print directly from the work order screen using the Print PDF action. 

A. Work Order Traveler 

B. Resource List 

C. Print Labels 

D. Print Component List 

E. Bill of material 

Correct Answer: ACD 

 

QUESTION 2

The Cost Accountant has reported to the Production Supervisor that the Work Order transactions are not 

getting transferred to Costing. 

Identify the reason for work order transactions not getting transferred to Costing. 

A. The Manage Item Rules setup is not complete. 

B. The Costing Interfaced Attribute is enabled in the resource definition. 

C. The item was made inactive after the Work Order transaction. 

D. The Costing Interfaced Attribute is not enabled in the resource definition. 

Correct Answer: D 

 

QUESTION 3

While creating an item in Product Information Management (PIM), the following two item templates are selected in
sequence and applied. 

1. 

Template: Finished Goods (WIP = No, Customer Ordered = Yes) 

2. 

Template: Sub-assembly (WIP = Yes, Customer Ordered = No) 

Identify the Item Attribute values in the application. 

A. WIP = Yes, Customer Ordered = Yes 
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B. WIP = Yes, Customer Ordered = No 

C. WIP = No, Customer Ordered = Yes 

D. WIP = No, Customer Ordered = No 

Correct Answer: C 

 

 

QUESTION 4

You can generate and manage work order exceptions in Oracle Manufacturing Cloud. Which users can report
production exception and who gets notified after an exception is raised? 

A. The Production Operator can report and exception and the application generates a notification that is 

sent to all users who have access to the manufacturing plant. 

B. The Production Operator can report an exception and the application generates a notification that is sent to all users
with the role of production supervisor who have access to the manufacturing plant. 

C. The Production Operator or Manufacturing Engineer can report an exception and notifies the production supervisor
using Oracle Social Network since there is no system generated notification. 

D. The Production Operator can report an exception and notifies the production supervisor using Oracle Social Network
since there is no system-generated notification. 

Correct Answer: B 

 

QUESTION 5

Planning Central has collected manufacturing data for a Work Order WO-2045 (Make Item AS1000), where actual
duration of work order is 2 days. Item AS1000 manufacturing lead time is 1.25 days. A plan is run and the Work Order
WO-2045 is rescheduled. Identify the duration of the rescheduled Work Order WO- 2045. 

A. Rescheduled Work Order WO-2045 duration = 2 days 

B. Rescheduled Work Order WO-2045 duration = 1.25 days 

C. Rescheduled Work Order WO-2045 duration = 3.25days 

D. Rescheduled Work Order WO-2045 duration = 0.75 days 

Correct Answer: D 
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